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QUESTION 1

Which object is used to cache table and index data as it is read from disk?
A. Database

B. Buffer pool

C. Table space

D. Package cache

Correct Answer: B

QUESTION 2

Which SQL statement would be used to retrieve only salaries that are greater than $100,000.00 from a table named
EMPLOYEE?

A. SELECT * FROM employee WHERE salary

B. SELECT salary FROM employee WHERE salary > 100000

C. SELECT salary FROM employee WHERE salary > 100,000.00

D. SELECT * FROM employee WHERE salary GREATER THAN 100000

Correct Answer: B

QUESTION 3

Which statement about application-period temporal tables is true?

A. Consists of explicitly-supplied timestamps and a separate associated history table.

B. Is based on explicitly-supplied timestamps that define the time periods during which data is valid.

C. Is useful when one wants to keep both user-based period information and system-based historical information.

D. Consists of a pair of columns with database-manager maintained values that indicate the period when a row is
current.

Correct Answer: B

QUESTION 4

Which SQL statement should be used to retrieve the minimum and maximum salaries (SALARY) for each job code
(JOB), sorted by job code, from a table named EMPLOYEE?
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A. SELECT job, MIN(salary), MAX(salary) FROM employee GROUP BY job ORDER BY job;

B. SELECT job, MIN(salary), MAX(salary) FROM employee ORDER BY job;

C. SELECT job, MIN(salary), MAX(salary) FROM employee GROUP BY SALARY ORDER BY job;

D. SELECT job, MIN(salary), MAX(salary) FROM employee GROUP BY MIN(salary), MAX(salary) ORDER BY job;

Correct Answer: A

QUESTION 5

Which two statements are true about foreign key constraints? (Choose two.)

A. The foreign key constraint columns must be supported by an index.

B. The foreign key constraint columns must be defined as NOT NULL.

C. The number and data types of foreign key constraint columns must match the parent key.
D. The columns of one foreign key constraint cannot be used in another foreign key constraint.

E. To define a foreign key constraint there must be an associated primary key or unique key in the same or different
table.

Correct Answer: CE
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